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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-I
Examination of the Four/Five-Year Degree Course, 2018-19

SEMESTER-I
FUNDAMENTALS OF HORTICULTURE
(HORT-111)

Time : 2 Hours

Section—1 :10

Maximum Marks : 70
. Section—11:60

Attempt all questions.
Answer of Question No. 1 and 2 be written in the space provided alongwith the questions
in Question-booklet. Answers of Question Nos. 3, 4, 5, 6 and 7 be written in
the Answer-book provided for writing answers.
In case of any discrepancy in English and Hindi versions of the paper,
only the English version be taken as correct.
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Time : 20 Minutes] [Maximum Marks : 10

The Objective part (Q. Nos. 1 and 2) is to be covered in the question paper itself and would be
collected by the invigilator after 20 minutes of the commencement of the examination.
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Cﬁoose-theommctanswerand write the number of correct answer 1 or 2 or 3 or 4
givenagainsteachmb—question. .
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For checking sprauting of onion during storage which growth regulator

is used?

(1) Cycocil

(2) Malic hydrazide
(3) Gibberellic acid
(4) Inole butyric acid.
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Papaya is commercially propagated by
(1) Cutting

(2) Layering

(3) Seed

(4) Budding.
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Poly embryony is seen in

(1) Ber

(2) Jamun and Citrus

(3) Grape and Guava
(4) All the above.
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(iv) In India, the average consumption of vegetable per day per person

(1) 40 gm

(2) 85 gm

(3) 135 gm

4) 210 gm.
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(1) 40 7™
(2) 85 ™
(3) 135 1™
@) 210 ™I

(v)  Mist chamber is used for E]
(1) Seed production
(2) Propagation
(3) Flowering
(4) Protection.
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(vi) Which of the following is the early variety of datepalm? ]
(1) Shamran
(2) Medjool
(3) Halawy
(4) Khadarwy.
forfafan & @ TR F R Fre BR- #2

(1) PRE
@ M
(3) wawE
4) @=Et

1/000/(1420)/C-318 5 [PTO.



@D@D@lﬂ RERISHBNIN

(4) August.
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. (vii) Which fruit is richest in Vitamin-C content? ]
(1) Mango

(2) Sweet orange

(3) Ber

(4 Aonla.
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~ (ix) Commercial grape production, which system of training is used? [65]

(1) Head
(2) Bower
(3) Kaniffin
(4) Telephone.
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(x)  Fruit crop most suitable for soil with high salinity

(1) Mango

(2) Bael

(3) Guava

(4) Grape.
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2. Fill in the blanks :
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(i) Bael is propagated bBY ......cccccoereeeernninsnsncnccsnsanans

(i) Application of fertilizer with irrigation water is known as

0®

(10x0.5=5)
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(iii) 10 x 10 meter spacing will requires ..

Fga T

... plants per hecture.
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(iv) Doka is one of the ripening stage of ..

... fruit plant.
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V:';’\(N) ‘.'l'he removal of off type plants from the seed production field is called
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(Vi)  AlOE is Propagated bY ...
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(vii) Grapes are pruned dUING ...
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(viii) Die-back problem is cOMMONIY OCCUTEA I covvevesssssssrssesssssssssssssnmmmsssssssssssssssessesssssseees
fruit crops.
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(x) A shoot or twig used as a source of bud for budding is called ........ccceeuinimnseensenes
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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-I
Examination of the Four/Five-Year Degree Course, 2018-19
SEMESTER-I
FUNDAMENTALS OF HORTICULTURE

(HORT-111)
) SECTION - II
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Time : 1 Hour 40 Minutes] [Maximum Marks : 60

The S‘ubjective part (Q. Nos. 3, 4, 5, 6 and 7) is to be covered in the Answer-book provided for
writing answers. The Answer-book would be collected by the invigilator when the candidate
finishes as per rules.

The question paper containing the Subjective part can be taken by the candidates alongwith them.
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3. Define the following : (5x1=5)
Frfafen #t sftafia SR -

(i) Air layering.

pcl

(ii) Ouincunx system.
Yegat yomeit
(iii) Incompatibility.
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(2x3.5=7)
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(ii) Role of plant growth regulator is horticulture.
JEHt | IRy gfy Pt @ wee

(iii) Adavantage of the root trainer.
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. Explain/Describe in detail any two out of the following three questions in 2-3 pages. (2x10=20)
frafafaa @ ww=l 9 | 6 Q4 @ W 2-3 ¥ 9 AR

(i) Describe the importance and scope of horticulture in India.
R ¥ Il & WeE 9 e # auie wl

(ii) What factors affecting growth of fruit plants?
T g8l A 9GaAR F TG FA T RS DAY §?
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i (ili) Write the name of different methods of budding with suitable diagram.
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